TH3EIR6H
FHES - TASR & : B MR RS

MEBRBAGE (8 A% EE(E) 4 8 9% (FEEERHALE—5 3 )
1 E4I0ER OzE=& 134 (+14)
' N BEREE 934 (—144)
OELhiLy 24 (—194)
Oy 224 (—5#)
_ OFA—bN\AE 188 (+2#)

RHER 214 (8B% EREE) W=EHBE 21,643, 000M

(AER)

FLF VR - 138 #HESE 15,250,000
FARF REERR 6 #wERE 5,189,000
R B AREEEERR o wERE 0F
RERREFRIER 0 & HERE 0H
B REER 0 f§ ®wERE 0H
Froai—FERE 2# #HESE 1,204, 000H
TOfDF0 o wmEsE 0M

(HHM3FE8AR L)
XHT % B IAREER S A KR

HT® |43 B4 B
H LA L B £ W
4 25 1| FKTE 1
HESATH 1| 7@ B B
B At ET Bl B HT
K E H IS 1
ok B AT A S 1| X B i
XHAWLEES f & HT 1
Xk B & b B B 1
k H K 2| 2
x H B 1| & T
& H db B R
12 g EESHAT 1
1EZ AKHET = HET
= 5 M B A H
= T BT K R HT
£ & m Z ¥ W
BE & 1|H & BT 1 COBSZBROLD
5h BH =F B £ Hr Al8EENEY
= 18 H B o H
IR J\ & HT
=& & & 5 3
i F AT Al it 1
TS AR ES
EERE e HT
= Y&/ N HT
B H 5 i H
)i HT 7x Y I 3
= E 21

FRIREFERISER ! :
OFMERTEFADFEAENRESERAFTLILFLALEERTT,
—PANEFEREHRHTY  FRGBFEMSLEVOICH, FTIBTEEEREE
FAERETH, BEVEADKESA LHHRERBEEHHD
BE[FA~EtDIEERmLELE !

FAZEDR—LR—UNoTHLIEITENEY , BECREAABTR TS !
Y : A RESRBE

(AZRIEN : £ERLR)
B|FE045—-742—-0110



ﬁ b §£EHM§+ « 9 E » #7138 BRIE

GIESYE S

bR R ERR

[ESEE 84 o T AR S WS SHcE [men]  HIA . | S| Sk ek

+1255 80 ca . 75 AT 4 1 +3 ez 1 2 -4

BETN| 5089 | 4537 | +552 70 ==4 1 o |=E " 7 T

FRH | 254 | 235 | 419 | [0 PEH 2 2| o %= 0 0 | o

o FARTET T 5| +o [shmE | 1 5 | -4

SEEH S hE 12 4 | +8 |#IEr 2 1 +1

T PR BRE| |» o o TR 0 o o |BRkmr 2 2 1o

m=NEm[ 80 90 —10 10 i —3EHT 2 2 0 |=Ema 1 1 0

BETmH| 16 35 | -19 g W= HFt7aLE| 6 5 | +1 @ 1 4 | -3

F XA 0 1 =1 RAB HETATE| 10 11| -1 PKREAr 6 2 +4

' of W HEITAHET| 6 3 w3 |xBEsEsE| 0 0 0

ﬁfg%ﬁ fRRHT 1 1 0 |kEi 3 7 -4

%iﬂéﬁfﬁz%*‘%%uzﬁ TR E R ER BRI RN J\BRAT 1 0 [ +1 [kmm 6 4| +2

ZZ)IIRHA| 16155 | 14802 | +1353 7N 20 29 -9 |;kHE&E 2 1 +1

HETA| 5823 | 5209 | +614° e e FEAEHT 7 6 +1 [KEIWES] o 1 -1

“EXA | 289 579 7 HWmEE s 9 R 13 18 -5 |skKHER 8 7 +1

! RSB BErREa| 0 1 -1 [T 11 10 [ +

FRER e E— FED T 5 | w5 [BKPE | 1 I

T SR | B | R THE S — SEEL AR Bl el IR

= R FAH 14 10 +4 |BHET 1 2 -1

SinE | 96 | 378% | +i0 Lkt _

= : ~ =adi) 9 9 0 |E&H 8 4 +4
T 17 6.7% +2 & VEE - ~

e 84 33.1% =5 ER 1 1 0 |BEHT 16 8 +8

HizE 76 29 9% 19 0 20 40 60 80 I8/ NHET 4 4 0 |fEZAKRHT 1 2 -1

: K 7 15 -8 |EeHT 3 0 +3

2 , . KFEHET 2 0 +2 |EEEET 2 7 -5

BEREMSDHHSE P ‘ Rl 9 12| -3 |fapAr 1 0 |

Cray POLIGE LS -yt b Té-m]- 2 2 0 EEIT 3 4 4

BEZEMSD HHS5E \IEAT 1 0 | +1 |SiREr 5 T | 4

SH3E9H218 (N) »530H (k) £THO10EM, B |[L5 T =7 T I B

ERBERSEEHNERESHET, /. 308 (K) 3 ITEHER
StEOZBiETHI Z:81F. BT ERMNIEDFESHZEELE

~ B2(3 DEFED WEUMS ~

¥, —AVDEUNTBIN -V EFURSLHIEEHELELLD.

SR EERE FTHRJE 045—742—-0110




